12/2 (2001), 225 – 234

OSCILLATION OF TWO DELAYS DIFFERENTIAL EQUATIONS WITH POSITIVE AND NEGATIVE COEFFICIENTS

Mustapha Lakrib

Département d'Informatique, Faculté des Sciences de l'Ingénieur, Université Djillali Liabès, B.P. 89, 22000 Sidi Bel Abbès, Algérie

Received: march 2000

MSC 2000: 34 K 15; 34 C 10

Keywords: Oscillation, delay differential equations.

Abstract: Sufficient conditions for the oscillation of all the solutions of the first order delay differential equation with positive and negative coefficients

$$\dot{x}(t) + p(t)x(t-\tau) - q(t)x(t-\sigma) = 0$$

are given.

1. Introduction

The oscillation theory of delay differential equations has been mostly developed during the past few years. This is motivated by the many applications of delay differential equations in physics, biology, ecology and physiology. We refer, for example, to [5], [9], [11], [13], [15], [27], [30], [32] and to the references cited therein.

The purpose of this paper is to consider the delay differential equation

(1)
$$\dot{x}(t) + p(t)x(t-\tau) - q(t)x(t-\sigma) = 0,$$
 where p and $q \in \mathcal{C}([t_0, +\infty), \mathbb{R}^+)$ and $\tau, \sigma \in \mathbb{R}^+$.

E-mail address: lakrib@yahoo.fr

226 M. Lakrib

By a solution of equation (1) on $[t_0, +\infty)$, where $t_0 \geq 0$, we mean a continuous function defined on $[t_0 - \max\{\tau, \sigma\}, +\infty)$, which is a differentiable function x on $[t_0, +\infty)$ and satisfies equation (1) for all $t \geq t_0$. Such a solution is called oscillatory if it has arbitrarily large zeros. Otherwise it is called nonoscillatory.

The first systematic study for the oscillation of all solutions of the delay differential equation with positive coefficient

$$\dot{x}(t) + p(t)x(\tau(t)) = 0$$

was undertaken by Mishkis. In 1950 [31], he proved that every solution of the equation (2) oscillates if

$$\limsup_{t \to +\infty} [t - \tau(t)] < +\infty, \qquad \liminf_{t \to +\infty} [t - \tau(t)] \cdot \liminf_{t \to +\infty} p(t) > \frac{1}{e}.$$

In 1972, Ladas, Lakshmikantham and Papadakis [25] proved that the same conclusion holds if

(3)
$$\limsup_{t \to +\infty} \int_{\tau(t)}^{t} p(s)ds > 1.$$

In 1979, Ladas [24] and in 1982, Koplatadze and Chanturiya [18] improved (3) to

(4)
$$\liminf_{t \to +\infty} \int_{\tau(t)}^{t} p(s)ds > \frac{1}{e}.$$

Concerning the constant 1/e in (4), it is to be noted that if the inequality

$$\int_{\tau(t)}^{t} p(s)ds \le \frac{1}{e}$$

holds eventually, then, according to a result in [18], the equation (2) has a non-oscillatory solution.

How to fill the gap between the conditions (3) and (4) when the limit

$$\lim_{t \to +\infty} \int_{\tau(t)}^{t} p(s)ds$$

does not exists, is an interesting problem which has been recently investigated by several authors.

In 1988, Erbe and Zhang [10] developed new oscillation criteria by employing the upper bound of the ratio $x(\tau(t))/x(t)$ for possible

non-oscillatory solutions x of the equation (2). Their result says that all the solutions of the equation (2) are oscillatory if $0 < m \le 1/e$ and

$$(5) M > 1 - \frac{m^2}{4}$$

where

$$m = \liminf_{t \to +\infty} \int_{t-\tau}^t p(s)ds$$
 and $M = \limsup_{t \to +\infty} \int_{t-\tau}^t p(s)ds$.

Since then, several authors obtained better results by improving the upper bound for $x(\tau(t))/x(t)$. Among them, we can cite Chao [4], Yu and Wang [33] and Yu, Wang, Zhang and Qian [34].

In 1990, Elbert and Stravroulakis [8] and in 1991, Kwong [23], using different techniques, improved condition (5) in the case where $0 < m \le 1/e$ to the conditions

$$M > 1 - \left(1 - \frac{1}{\sqrt{\lambda_1}}\right)^2$$
 and $M > \frac{\ln \lambda_1 + 1}{\lambda_1}$,

respectively, where λ_1 is the smaller root of the equation $\lambda = e^{m\lambda}$.

We also mention that in the case where

$$\int_{\tau(t)}^{t} p(s)ds \ge \frac{1}{e} \quad \text{and} \quad \lim_{t \to +\infty} \int_{\tau(t)}^{t} p(s)ds = \frac{1}{e},$$

this problem has been studied in 1995 by Elbert and Stravroulakis [8], Kozakiewics [19] and Li [28], and in 1996 by Li [29] and by Domshlak and Stavroulakis [6].

In 1998, Domshlak and Stavroulakis [7] and in 1999, Jaros and Stavroulakis [17] established sufficient conditions for the oscillation of all solutions of the equation (1) in the critical state that the corresponding limiting equation admits a non-oscillatory solution.

Among several other works devoted to the study of oscillatory properties of delay differential equations, we can cite the papers by Agwo [1], Arino and Győri [2], Arino, Ladas and Sficas [3], Gopalsamy [12], Gopalsamy and Ladas [14], Győri and Ladas [15], Győri, Ladas and Pakula [16], Kulenovic and Ladas [20], [21], Kulenovic, Ladas and Meimaridou [22] and Ladas and Stavroulakis [26].

In this paper, we provide new sufficient conditions for the oscillation of all the solutions of the equation (1) by means of the generalized characteristic equation. 228 M. Lakrib

2. The main result

We first give some results needed in the proof of our main theorem (Th. 2.1).

Lemma 2.1. Let $x \in \mathbb{R}$ and r > 0. Then

$$(6) re^{rx} \ge rx + \ln er.$$

Proof. Write the right hand side of (6) as

$$rx + \ln er = \ln e^{rx} + \ln er = \ln e + \ln re^{rx} = 1 + \ln re^{rx}$$
.

So, inequality (6) becomes

(7)
$$re^{rx} \ge 1 + \ln re^{rx} \quad \text{or} \quad re^{rx} - \ln re^{rx} \ge 1.$$

Let $z = re^{rx}$ and consider the function $f(z) = z - \ln z$. In terms of z and f(z), inequality (7) reads $f(z) \ge 1$. Note that f(1) = 1 and $\frac{d}{dz}f(z) = \frac{z-1}{z}$, which implies that f admits 1 as a minimum and then $f(z) \ge 1$ for all z > 0. \diamondsuit

Lemma 2.2 [15]. Suppose that $x \in \mathcal{C}([t_0, +\infty), \mathbb{R})$ satisfies the inequality

$$x(t) \le c + \max_{t-\tau \le s \le t} x(s)$$
 for $t \ge t_0$,

where $c \leq 0$, $\tau \in \mathbb{R}^+$ and $t_0 \in \mathbb{R}$. Then x cannot be a nonnegative function.

Lemma 2.3 [15]. Let $p_i \in \mathcal{C}([t_0, +\infty), \mathbb{R}^+)$ and $\tau_i \in \mathbb{R}^+$, $i = 1, \ldots, n$. The differential inequality

$$\dot{x}(t) + \sum_{i=1}^{n} p_i(t)x(t-\tau_i) \le 0, \quad t \ge t_0$$

has an eventually positive solution if and only if the differential equation

$$\dot{y}(t) + \sum_{i=1}^{n} p_i(t)y(t - \tau_i) = 0, \quad t \ge t_0$$

has an eventually positive solution.

Consider the delay differential equation

(8)
$$\dot{y}(t) + a(t)y(t-\tau) = 0, \quad t \ge t_0,$$

and let

$$m = \liminf_{t \to +\infty} \int_{t-\tau}^t a(s)ds$$
 and $M = \limsup_{t \to +\infty} \int_{t-\tau}^t a(s)ds$.

Lemma 2.4 [17]. Suppose that m > 0 and the equation (8) has an eventually positive solution y. Then $m \leq 1/e$ and

$$M \le c_1 = \frac{1 + \ln \lambda_1}{\lambda_1} - L,$$

where λ_1 is the smaller root of the equation $\lambda = e^{m\lambda}$ and $L = \lim_{t \to +\infty} \inf \frac{y(t)}{y(t-\tau)}$.

Lemma 2.5 [33]. Let $0 < m \le 1/e$ and let y be an eventually positive solution of the equation (8). Then

$$\limsup_{t \to +\infty} \frac{y(t-\tau)}{y(t)} \le c_2 = \frac{2}{1 - m - \sqrt{1 - 2m - m^2}}.$$

Lemma 2.6. Consider the delay differential equation (1) and assume that the following conditions hold:

(H1):
$$p, q \in \mathcal{C}([t_0, +\infty), \mathbb{R}^+), \tau, \sigma \in \mathbb{R}^+ \text{ and } \tau \geq \sigma$$
,

(H2):
$$p(t) \ge q(t + \sigma - \tau)$$
 for $t \ge t_0 + \tau - \sigma$,

(H3):
$$\int_{t-\tau}^{t-\sigma} q(s+\sigma)ds \le 1 \text{ for } t \ge t_0 + \tau.$$

Let x be an eventually positive solution of the equation (1) and X the function defined by

$$(9) X(t) = x(t) - \int_{t-\tau}^{t-\sigma} q(s+\sigma)x(s)ds, t \ge t_0 + \tau - \sigma.$$

Then X is decreasing and positive.

Proof. By differentiation, (9) gives

$$\dot{X}(t) = \dot{x}(t) - q(t)x(t - \sigma) + q(t + \sigma - \tau)x(t - \tau).$$

By (1) we see that

(10)
$$\dot{X}(t) = -[p(t) - q(t+\sigma-\tau)]x(t-\tau).$$

Because that x is positive for $t \ge t_1 - \tau$, where $t_1 \ge t_0 + \tau$, and from hypothesis (H2), we conclude that

$$\dot{X}(t) < 0 \quad \text{for} \quad t \ge t_1 + \tau,$$

which implies that X is decreasing on $[t_1 + \tau, +\infty)$.

Now, by contradiction we prove that X is positive. Suppose that there exists a $t_2 \geq t_1$ such that $X(t_2) \leq 0$. Inequality (11) implies that there exists a $t_3 \geq t_2$ such that $X(t) \leq X(t_3) \leq 0$ for $t \geq t_3$. From (9) it follows that for $t \geq t_3$ we have

230 M. Lakrib

$$x(t) = X(t) + \int_{t-\tau}^{t-\sigma} q(s+\sigma)x(s)ds \le X(t_3) + \int_{t-\tau}^{t-\sigma} q(s+\sigma)x(s)ds \le$$
$$\le X(t_3) + \left(\max_{t-\tau \le s \le t-\sigma} x(s)\right) \int_{t-\tau}^{t-\sigma} q(s+\sigma)ds.$$

Hypothesis (H3) yields

$$x(t) \le X(t_3) + \max_{t-\tau \le s \le t-\sigma} x(s)$$
 for $t \ge t_3$.

By Lemma 2.2, x cannot be nonnegative on $[t_3, +\infty)$, which is a contradiction to the assumptions of our theorem. This completes the proof. \Diamond

Our main result about the oscillation of all solutions of the equation (1) is embodied in the following:

Theorem 2.1. Let the hypotheses (H1) to (H3) of Lemma 2.6 are true. Let $a(t) = p(t) - q(t + \sigma - \tau)$ and assume that

(H4):
$$\liminf_{t \to +\infty} \int_{t-\tau}^t a(s)ds > 0$$
,

(H5):
$$\limsup_{t\to +\infty} \int_{\overline{t}_0}^t a(s) \ln\left(e \int_s^{s+\tau} a(u) du\right) ds = +\infty$$
, for some \overline{t}_0 .

Then every solution of the equation (1) is oscillatory.

Proof. For the sake of contradiction, we assume that (1) has a positive solution x. (For the case that (1)x has a negative solution \overline{x} , we simply let $x = -\overline{x}$). By Lemma 2.6, the function X defined by (9) is positive. Also by (10) we have

$$\dot{X}(t) + [p(t) - q(t + \sigma - \tau)]x(t - \tau) = 0.$$

Since $0 < X(t) \le x(t)$ and $p(t) \ge q(t + \sigma - \tau)$ (see (H2)), X satisfies

$$\dot{X}(t) + [p(t) - q(t + \sigma - \tau)]X(t - \tau) \le 0.$$

By Lemma 2.3, the delay differential equation

(12)
$$\dot{y}(t) + [p(t) - q(t + \sigma - \tau)]y(t - \tau) = 0$$

has a positive solution. Let y be such a solution. Note that y is decreasing for sufficiently large t. Dividing both sides of equation (12) by y(t), we have

$$\frac{\dot{y}(t)}{y(t)} + [p(t) - q(t+\sigma-\tau)] \frac{y(t-\tau)}{y(t)} = 0.$$

Integrating both sides of this equation from $t - \tau$ to t, for sufficiently large t, we have

$$\ln \frac{y(t)}{y(t-\tau)} + \int_{t-\tau}^t [p(s) - q(s+\sigma-\tau)] \frac{y(s-\tau)}{y(s)} ds = 0.$$

Let $W(t) = \frac{y(t-\tau)}{y(t)}$. By the last equation, we have

$$\int_{t-\tau}^{t} [p(s) - q(s+\sigma-\tau)]W(s)ds = \ln W(t),$$

or

$$W(t) = \exp\left(\int_{t- au}^t a(s)W(s)ds
ight),$$

where $a(t) = p(t) - q(t + \sigma - \tau)$. Multiplying the factor a(t) in both sides of this equation, the function $\alpha(t) = a(t)W(t)$ satisfies the generalized characteristic equation

$$\alpha(t) = a(t) \exp\left(\int_{t- au}^t \alpha(s) ds\right).$$

Let $r(t) = \int_{t-\tau}^t a(s)ds$ and $x(t) = \frac{1}{r(t)} \int_{t-\tau}^t \alpha(s)ds$. The equation above is equivalent to

$$r(t)\alpha(t) = a(t)r(t)e^{r(t)x(t)}$$
.

By Lemma 2.1 we get

$$r(t)\alpha(t) \geq a(t) \left[r(t)x(t) + \ln er(t) \right],$$

which is equivalent to

$$r(t)lpha(t) \geq a(t) \left[\int_{t- au}^t lpha(s) ds + \ln e r(t)
ight]$$

or

$$\left(\int_{t-\tau}^t a(s)ds\right)\alpha(t) - a(t)\int_{t-\tau}^t \alpha(s)ds \ge a(t)\ln\left(e\int_{t-\tau}^t a(s)ds\right).$$

Integrating both sides of this inequality from \bar{t}_0 to T, for $T > \bar{t}_0$, \bar{t}_0 sufficiently large, we have

(13)
$$\int_{\overline{t}_{0}}^{T} \left(\int_{t-\tau}^{t} a(s)ds \right) \alpha(t)dt - \int_{\overline{t}_{0}}^{T} a(t) \int_{t-\tau}^{t} \alpha(s)dsdt \ge \int_{\overline{t}_{0}}^{T} a(t) \ln \left(e \int_{t-\tau}^{t} a(s)ds \right) dt.$$

By interchanging the order of integration, we find that

$$\begin{split} &\int_{\overline{t}_0}^T a(t) \left(\int_{t-\tau}^t \alpha(s) ds \right) dt \geq \int_{\overline{t}_0}^{T-\tau} \left(\int_{s}^{s+\tau} a(t) \alpha(s) dt \right) ds = \\ &= \int_{\overline{t}_0}^{T-\tau} \alpha(s) \left(\int_{s}^{s+\tau} a(t) dt \right) ds = \int_{\overline{t}_0}^{T-\tau} \alpha(t) \left(\int_{t}^{t+\tau} a(s) ds \right) dt. \end{split}$$

Hence

(14)
$$\int_{\overline{t}_{0}}^{T} \alpha(t) \left(\int_{t-\tau}^{t} a(s)ds \right) dt - \int_{\overline{t}_{0}}^{T-\tau} \alpha(t) \left(\int_{t}^{t+\tau} a(s)ds \right) dt \ge$$

$$\ge \int_{\overline{t}_{0}}^{T} \left(\int_{t-\tau}^{t} a(s)ds \right) \alpha(t) dt - \int_{\overline{t}_{0}}^{T} a(t) \int_{t-\tau}^{t} \alpha(s) ds dt$$

and therefore, from (13) and (14), it follows that

$$\int_{T-\tau}^{T} \alpha(t) \left(\int_{t-\tau}^{t} a(s) ds \right) dt \ge \int_{\overline{t}_0}^{T} a(t) \ln \left(e \int_{t-\tau}^{t} a(s) ds \right) dt.$$

Taking "limsup" on both sides of this inequality, we have

(15)
$$M \cdot \limsup_{t \to +\infty} \int_{t-\tau}^{t} \alpha(s) ds \ge \limsup_{t \to +\infty} \int_{t-\tau}^{t} \alpha(s) \left(\int_{s-\tau}^{s} a(u) du \right) ds \ge$$

$$\ge \limsup_{t \to +\infty} \int_{\overline{t}_{0}}^{t} a(s) \ln \left(e \int_{s-\tau}^{s} a(u) du \right) ds,$$

where $M = \limsup_{t \to +\infty} \int_{t-\tau}^t a(s)ds$. Since $\alpha(t) = a(t)W(t) = -\frac{\dot{y}(t)}{y(t)}$, inequality (15) gives

$$M \cdot \limsup_{t \to +\infty} \ln \frac{y(t-\tau)}{y(t)} \ge \limsup_{t \to +\infty} \int_{\bar{t}_0}^t a(s) \ln \left(e \int_{s-\tau}^s a(u) du \right) ds.$$

Using Lemma 2.4 (M is finite) and hypothesis (H5), we deduce that

$$\limsup_{t \to +\infty} \frac{y(t-\tau)}{y(t)} = +\infty.$$

In view of Lemma 2.5, we have a contradiction. Thus the result of Th. 2.1 holds. \Diamond

Acknowledgement. The author wishes to thank the anonymous referee for his helpful suggestions.

References

[1] AGWO, H.A.: On the oscillation of delay differential equations with real coefficients, *Internat. J. Math. & Math. Sci.* 22/3 (1999), 573-578.

- [2] ARINO, O. and GYÖRI. I.: Necessary and sufficient condition for oscillation of a neutral differential system with several delays, J. Diff. Equ. 81/1 (1989), 98-105.
- [3] ARINO, O., LADAS. G. and SFICAS, S.: On oscillations of some retarded differential equations, SIAM J. Math. Anal. 18 (1987), 64-73.
- [4] CHAO, J.: On the oscillation of linear differential equations with deviating arguments, *Math. Practice Theory* 1 (1991), 32-40.
- [5] COOKE, K.L. and YORKE, J.A.: Some equations modeling growth processes and Gonorrhea epidemic, Math. Biosc. 16 (1973), 75–101.
- [6] DOMSHLAK, Yu. and STAVROULAKIS, I.P.: Oscillations of first order delay differential equations in a critical state, Appl. Anal. 61 (1996), 359–371.
- [7] DOMSHLAK, Yu. and STAVROULAKIS, I.P.: Oscillation of differential equations with deviating arguments in a critical state, Dyn. Sys. Appl. 7 (1998), 405–412.
- [8] Elbert, A. and STAVROULAKIS, I.P.: Oscillations of first order differential equations with deviating arguments. In: Recent trends in differential equations, World Sci. Publ. Co. (1992), 163–178.
- [9] ERBE, L. H., KONG, Q. and ZHANG, B.G.: Oscillation Theory for Functional Differential Equations, Pure and Applied Mathematics, Marcel Dekker, Inc., New York, 1994.
- [10] ERBE, L. H. and ZHANG, B.G.: Oscillation for first order linear differential equations with deviating arguments, *Diff. Integ. Equ.* 1 (1988), 305–314.
- [11] ERGEN, W.K.: Kinetics of the circulating fuel neuclar reaction, J. Appl. Phys. **25** (1954), 702–711.
- [12] GOPALSAMY, K.: Oscillatory properties of systems of first order linear delay differential inequalities, Pacific J. Math. 128 (1987), 299–305.
- [13] GOPALSAMY, K.: Stability and Oscillations in Delay Differential Equations of Population Dynamics, Mathematics and its Applications, Vol. 74, Kluwer Academic Publishers Group, Dordrecht, 1992.
- [14] GOPALSAMY, K. and LADAS, G.: Oscillation of delay differential equations, J. Austral. Math. Soc. Ser. B/32 (1991), 377–381.
- [15] GYÖRI, I. and LADAS, G.: Oscillation Theory of Delay Differential Equations: With Applications, Oxford Mathematical Monographs, The Clarendon Press, Oxford University Press, New York, 1991.
- [16] GYÖRI, I., LADAS, G. and PAKULA, L.: Oscillation Theorems for delay differential equations via Laplace transforms, *Canad. Math. Bull.* 33 (1990), 323–326.
- [17] JAROS, J. and STAVROULAKIS, I.P.: Oscillation tests for delay equations, Rocky Mountain J. Math. 29/4 (1999), 1-11.
- [18] KOPLATADZE, R.G. and CHANTURIYA, T.A.: On oscillatory and monotone solutions of first order differential equations with deviating arguments, *Differentsialnye Uravneniye* 18 (1982), 1463–1465. (In Russian)

- [19] KOZAKIEWICS, E.: Conditions for the absence of positive solutions of a first order differential equality with a single delay, Arch. Math. (Brno) 31 (1995), 291–297.
- [20] KULENOVIC, M.R.S. and LADAS, G.: Linearized oscillation in population dynamics, Bull. Math. Bio. 44 (1987), 615–627.
- [21] KULENOVIC, M.R.S. and LADAS, G.: Oscillations of sunflower equations, Quart. Appl. Math. 46 (1988), 23–38.
- [22] KULENOVIC, M.R.S., LADAS, G. and MEIMARIDOU, A.: On oscillation of nonlinear delay differential equations, *Qurt. Appl. Math.* 45 (1987), 155–162.
- [23] KWONG, M.K.: Oscillation of first order delay equations, J. Math. Anal. Appl. 156 (1991), 274–286.
- [24] LADAS, G.: Sharp conditions for oscillations caused by delays, Appl. Anal. 9 (1979), 93–98.
- [25] LADAS, G., LAKSHMIKANTHAM, V. and PAPADAKIS, L.S.: Oscillations of higher order retarded differential equations generated by the retarded arguments. In: Delay and Functional Differential Equations and Their Applications, Academic Press, New York, 1972, 219–231.
- [26] LADAS, G. and STAVROULAKIS, I.P.: Oscillations caused by several retarded and advanced arguments, J. Diff. Equ. 44 (1982), 143–152.
- [27] LADDE, G.S., LAKSHMIKANTHAM, V. and ZHANG, B.G.: Oscillation Theory of Differential Equations with Deviating Arguments, Monographs and Texbooks in Pure and Applied Mathematics, Vol. 110, Marcel Dekker, Inc., New York, 1987.
- [28] LI, B.: Oscillations of delay differential equations with variable coefficients, J. Math. Anal. Appl. 192 (1995), 312–321.
- [29] LI, B.: Oscillation of first order delay differential equations, Proc. Amer. Math. Soc. 124 (1996), 3729–3737.
- [30] MACDONALD, N.: Biological Delay Systems: Linear Stability Theory, Cambridge University Press, 1989.
- [31] MISHKIS, A.D.: Linear homogeneous differential equations of first order with deviating arguments, *Uspekhi Math. Nauk* 5/36 (1950), 160–162. (In Russian)
- [32] TRAMOV, M.I.: Conditions for the oscillation of the solutions of first order differential equations with retarded argument, Izv. Vyssh. Uchebn. Zaved. Mat. 154/3 (1975), 92–96 (In Russian).
- [33] YU, J.S. and WANG, Z.C.: Some further results on oscillation of neutral differential equations, *Bull. Austral. Math. Soc.* **46** (1992), 149–157.
- [34] YU, J.S., WANG, Z.C., ZHANG, B.G. and QIAN, X.Z.: Oscillations of differential equations with deviating arguments, *Panam. Math. J.* 2 (1992), 59–78.